Esercizi sulla parte introduttiva

. Determinare I’andamento asintotico per € — 0 delle funzioni:
(i) £(6) = VT

(i) F6) =vTFe—1,

. Determinare I’andamento asintotico per € — 0 delle funzioni:
(i) £(e) = esine,

(i1) f(e) = (sine)/e,

. Determinare I’andamento asintotico per € — 0 delle funzioni:
(1) fe) =In(1+¢),

. Determinare I’andamento asintotico per € — 0 delle funzioni:
(i) Sl =1 —e)7h,

(ii) F() = (1— ) —c.

. Determinare I’andamento asintotico per € — 0 delle funzioni:
(i) £(e) = elne,

(ii) () = esin(1/e).



